Number - Finding Fractions

Qi
There are 300 people in the cinema.

% of the 300 people are boys.

% of the 300 people are girls.

The rest of the people are adults.

Work out how many people are adults.

(4 marks)



Number - Finding Fractions
Q2

Sapir buys 60 bags.
She pays £3 for each bag.

Sapir sells % of the bags for £5 each.

She sells % of the bags for £4 each.
Sapir wants to make a total profit of £75

How much should she sell each of the remaining bags for?

(4 marks)
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(4 marks)



Number - Finding Fractions
Q2

Sapir buys 60 bags.
She pays £3 for each bag.

Sapir sells % of the bags for £5 each.

She sells % of the bags for £4 each.
Sapir wants to make a total profit of £75

How much should she sell each of the remaining bags for?
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(4 marks)



